Langston (2-0) -vs- Haskell (0-6)
2/18/2024 at Lawrence, KS

Score by Innings 1 2 3 4 R H E
Langston 4 0 0 4 9 2
Haskell 1 0 2 0 3 3 1
Langston 4 Haskell 3

Player AB R H RBI BB SO LOB Player AB R H RBI BB SO LOB
J. Harper ss 3 1 1 1 0 O 3 A. On cf 1 2 0 0 1 0 0
A. Thatcher c 2 0 1 1 0 O 0 M. Merritt If 1 0 O 0 0 O 0
T. Garrett p 2 0 1 0 0 O 0 T. Allen If 1 0 O 0O 0 1 0
M. Williams 3b 2 0 O 0 o0 1 1 K. Standingw ¢ 0 1 0 0o 2 O 0
A. Edison 2b 2 0 1 0o 0 1 2 K. Roberts dp 2 0 O 1 0 O 0
A. Bell 1b 2 1 1 0 0 O 0 T. Pierre p 2 0 1 0 0 O 1
B. Bartley If 2 1 2 0 0 O 0 C. Farrow ss 1 0 1 0 0 O 0
J. Pruitt rf 2 1 1 0O 0 O 0 D. Martinez 3b 1 0 1 0O 0 O 0
A. Jackson cf 2 0 1 2 0 0 0 A. Herrera 1b 2 0 O 0 0 O 3
Totals 19 4 9 4 0 2 6 K. Lyons 2b 1 0 O 0 0 O 1
5 Jo. Headbird rf 0 0 O 0 0 0 0
E?A.T'Egizgr?t(tz()l) Totals 12 3 3 1 3 1 5
DP: 1 SF: C. Farrow (1)

HBP: D. Martinez (1)
E: D. Martinez (1)

Langston 1P H R ER BB SO WP BK HBP IBB AB BF FO GO NP
T. Garrett (W, 1-0) 3.0 3 3 1 3 1 0 0 1 0 12 17 4 3 54
Totals 3 3 1 3 1 0 0 1 0 12 17 4 3 54
Haskell 1P H R ER BB SO WP BK HBP IBB AB BF FO GO NP
T. Pierre (L, 0-2) 3.0 9 4 4 0 2 0 0 0 0 19 19 2 3 51
Totals 9 4 4 0 2 0 0 0 0 19 19 2 3 51

Win: T. Garrett (1-0)
Loss: T. Pierre (0-2)
HBP: T. Garrett
PB: A. Thatcher

Start: 4:00 PM Time: 1:07

Game notes:



Play By Play

Langston - Top of 1st LAN HAS
J. Harper grounded out to c. 0 0
A. Thatcher singled. 0 0
T. Garrett reached on a fielder's choice; A. Thatcher advanced to second. 0 0
M. Williams struck out swinging. 0 0
A. Edison struck out swinging. 0 0

Runs: 0 Hits: 1 Errors

: 0 Left On Base: 2

Haskell - Bottom of 1st LAN HAS
A. On walked. 0 0
M. Merritt grounded out to ss; A. On advanced to second. 0 0
K. Standingw walked; A. On advanced to third on a passed ball. 0 0
K. Roberts grounded out to 2b, RBI; K. Standingw advanced to second; A. On scored. 0 1
T. Pierre flied out to rf. 0 1

Runs: 1 Hits: 0 Errors

: 0 Left On Base: 1

Langston - Top of 2nd LAN HAS
A. Bell singled. 0 1
B. Bartley singled; A. Bell advanced to second. 0 1
J. Pruitt singled; B. Bartley advanced to second; A. Bell advanced to third. 0 1
A. Jackson singled, advanced to second on the throw, 2 RBI; J. Pruitt advanced to third; B. Bartley scored;

A. Bell scored. 2 1
J. Harper singled, RBI; A. Jackson advanced to third; J. Pruitt scored. 3 1
A. Thatcher grounded out to 3b, RBI; J. Harper scored; A. Jackson out at home c to 3b to c. 4 1
T. Garrett doubled. 4 1
M. Williams flied out to rf. 4 1

Runs: 4 Hits: 6 Errors

: 0 Left On Base: 1

Haskell - Bottom of 2nd LAN HAS
C. Farrow singled. 4 1
D. Martinez singled, advanced to second on the throw; C. Farrow advanced to third. 4 1
A. Herrera flied out to cf. 4 1
K. Lyons lined into double play p to 3b; C. Farrow out on the play. 4 1

Runs: 0 Hits: 2 Errors

:0 LeftOn Base: 1

Langston - Top of 3rd LAN HAS
A. Edison singled. 4 1
A. Bell reached on a fielder's choice; A. Edison out at second ss unassisted. 4 1
B. Bartley singled; A. Bell advanced to second. 4 1
J. Pruitt out on batter's interference. 4 1
A. Jackson reached first on an error by 3b; B. Bartley advanced to second; A. Bell advanced to third. 4 1
J. Harper flied out to rf. 4 1

Runs: 0 Hits: 2 Errors

;1 Left On Base: 3

Haskell - Bottom of 3rd LAN HAS
A. On reached first on an error by 2b. 4 1
T. Allen pinch hit for M. Merritt. 4 1
T. Allen struck out swinging. 4 1
K. Standingw walked; A. On advanced to second. 4 1
K. Roberts reached first on an error by 2b; K. Standingw advanced to second; A. On advanced to third. 4 1
T. Pierre singled; K. Roberts advanced to second; K. Standingw advanced to third; A. On scored, unearned. 4 2
C. Farrow flied out to cf, sacrifice fly; K. Standingw scored, unearned. 4 3
D. Martinez hit by pitch; T. Pierre advanced to second; K. Roberts advanced to third. 4 3
A. Herrera grounded out to ss. 4 3

Runs: 2 Hits: 1 Errors: 2 Left On Base: 3

Langston - Top of 4th

LAN

HAS

T.

Allen to If.



Runs: 0 Hits: 0 Errors: 0 Left On Base: 1

Haskell - Bottom of 4th LAN HAS

Runs: 0 Hits: 0 Errors: 0 Left On Base: 0



